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Level 2

Find the slope of the line.
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Find the slope of the line that passes through each pair of points.

s (0-9)&(-3-3)

5. (4,0) &»(O, 4)

6. (—9,5)&(-3,3)
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Find the slope and y-intercept of the graph of each equation.
7. y=2x+7 8. 8x+ 10y =30 9. 3y= —9x—12
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Graph each equation. v ’5
10.y=4x—6 1. y+1=3(x+3)
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Level 3 continued...

Graph each equation.

12.y =3 13.y—1=-2(x+4)
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Level 4
Describe, in detail, 2 different methods you can use to graph the equation y — 4 = 2(x — 3). Which method do you prefer?
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Level 2
Write an equation in SLOPEINTERCEPT FORM for the line.
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Level 3

Write an equation in POINT-SLLOPE FORM for the line through the given point with the given slope.

18. (5,0) m =3 19. (4,—6) m= -7
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Write an equation, in SLOPE-INTERCEPT FORM, of the line that passes through the pair of points.

20. (1,-2) & (3,8) 21. (2,-7) &(8,2)
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Write an equation in SLOPE-INTERCEPT FORM for the line that passes}a'nrough the given point and is PARALLEL to
the given line.
21. (4,5) y= —;x+4 22.(-7,3) x=4
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Write an equation in SLOPEAINTERCEPT FORM for the line that passes through the given point and is
PERPENDICULAR to the given line.

23.(5,-1) y=4x—7 24. (4,-2) y=3
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Suppose a 5-minute overseas call costs $5.91 and a 10-minute call costs $10.86. The cost of the call and the
length of the call are related. The cost of each minute is constant. 10856 -35.9| 4.45
a. Whatis the cost, ¢, of a call of m minutes duration 1o - 5 = = "g_— = 97
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b. How long can you talk on the phone if you have $12 to spend?
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